SCIENCE 9: REVIEW OF SUBATOMIC PARTICLES AND BOHR MODELS
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Practice: (35 Complete the following table.
@ Why do atoms have the same number of protons and electrons?
Q— protons | neutrons | electrons
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1. Calculate the number of protons, neutrons, electrons.
2. In the nucleus:
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3. Draw the electrons in energy shells:
*  Max electrons per %Sl 11 from inside to outside:
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«  (Except in f rst shell) electrons are filled starting at top, going
clockwise, singly at first then paired

Example: sodium atom \\p, \Za , e Example: oxygen atom

80, 8n




